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CANADIAN MATHEMATICS 8

6.2 SOLVING TYPE II EQUATIONS

" A Type II equation will require you to do two opposite or inverse operations to solve for the
variable (letter). Always do the opposite of any addition or subtraction first, then proceeed to do
the inverse operation of any multiplication or division, as shown in the examples below.

-

EXAMPLE #1 EXAMPLE #2
5x -9 =8 x +7=93
5x=8+9 5
5x =17 x =93-7
x =17 5
5 5 Xx =23
x =34 5 1
x =11.5
A. Solve the following.
1. 3x+2=14 2. x +4=10
-3
4 ~18
4, ',x -8 =16 5. 5x -09=2
1€ 0.5¢
7. 1.2x -1.2=84 8. %2,x-5=15
€ 70
10. 4x + 8 =4 11. 45x =60
ol 05
13. x+3 = -8 14. 12 =x+5
5 _KS§ 8
5 506
16. -18x + 5 =13.2 17. 5x -3 =18
~0.45 4.2
19. 14 =3x -5 20. x+ 18 =5
5 =
b3 - 65
22. %,x -8=8 23. -13x+3 =6
' 3
24 -5
/3

EQUATIONS AND INEQUALITIES

18. x -8 = -10

-

21. 4x + 7 = 0.07
—[.71325

24. 42x+4 = -8
2.8571
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